cTXO-00O

SEEEA kR

air

ROg il

air Swing clamp

SAEENAXESR WHE 1MPa

w0 GTX

Loy: Fich
model CTX40-L

X F CAD XU THEEHNFEHR, ERIHETFMT

www.pascaleng.co.jp

bR |

CTX

831



CTXO-OJO

SEEEA kR

air

ROg il

woE B
model CTX D = l:‘

B

R EE

SEE B E

R )RR
model VCL (M)

Za- P

=gas

o ¥o

XF CAD XU THEEMER, 5 LAH~MIT www.pascaleng.co.jp

bR |

833



iRk SR AT T

CTX

834

CTX[I-0 Sk EE air X@hA
F41) 1%
N o S R HERE 5 1)
32 &\
Lcmtsnt [ (mRS)RD
40
CTX - .
50 /”
R :Ifft§tAE vl E WL &
63
e CTX32 CTX40 CTX50 CTX63
SELEET] (RJEA0.5 MPaft) N 330 530 820 1310
SERNERE mm 32 40 50 63
FFE mm 14 16 20 25
SEmR () mm? 650 1056 1649 2626
st 90°+3°
R B R +1°
e EEE F AR +0.5°
21752 mm 20.5 22 25 28.5
90 feiE1THE mm 10.5 12 15 18.5
F Z1TRE mm 10 10 10 10
mAMEREHGE N-m 0.10 0.20 0.40 0.75
F & cm? 13.3 23.2 41.2 74.9
SEng \
LA cm? 16.5 27.6 491 88.8
R 2 kg 0.45 0.62 1.02 1.68
TERIBREEZEZEDE GRE2£12.9) N-m 4.0 4.0 5.9 5.9
kBB RERREEXEALE N-m 25 25 50 53

SESEE:0.1~1 MPa

{RIEMTE 1.5 MPa

/‘:L
SATBR BB A IME T Al PUE A .

X1 IEETERM, 8

2OEEAEES um T

BN TE=S.

{E AIEIRE 10~70 C

ERLO.T MPafgE S TH Sk BB HIIR IR (& -

BRRE: =S (%2)

THRBEBAEXZETENIIT.

Mol AFE

:E R
i SR — X
90°E¥e1Ti2 - ERTRE
HEREO0" HOEEATR p | EEmAIEE
6 | BETRARA L

EEITIRER




CTXO-OO SEEEA kR air WaE
ERXRESGRYRE R,
BB K E GEYEE
fE AR RT GRS, AT ZE IR AL I3 1 22 48 e M 1 o 4 EAGEARMER ., FEGERAELFT, TELFA—HE

# model VCLo

GHRSE L

OFHE

E—rch i
(2mE8)

BIM3ZEHE L. (R AR REMIE R L)
GURLTHESL , 1FE A PR 5 K s B A R B L M0 E R

og

B o

R

«8E
(@)

M3 sk

EEE’:%U H8 model VCL
—87671

R i
model VCL (34 )

—J

R R i)
model VCL (3 f4)

XF CAD XU THEEHER, FRMEIT-FMIT www.pascaleng.co.jp

bR |

CTX

835



CTXO-OJO SEHEEXXER air WzhE

[

>
o

®

e 11E e B K (LH) FISJE (P) st
FEREKE LH
(mm) FEHHEAR
FEAF=SEPX1000/(RH 1+ RH2X LEBKELH)
NN

CTX50k ZEKE (LH) 60 mm. S/E1.0 MPaRT,
Je & HF=1.0X1000/(0.606+0.00169 X 60)=1410 N

AR BRGEEMEE, FFAEAEAAEEERER.

EEHF ’(?A’Eaf)’
N
1.0 650 580 | 560 | 530 89 1.0 1060 910 | 860 820 92
0.9 590 520 | 500 | 470 | 450 | 440 103 0.9 950 820 | 780 740 107
0.8 520 470 | 450 | 420 | 400 | 390 | 370 122 0.8 840 730 | 690 | 660 | 630 126
0.7 460 410 | 390 | 370 | 350 | 340 | 320 148 0.7 740 640 | 600 | 570 | 550 | 520 | 500 153
0.6 390 350 | 330 | 320 | 300 | 290 | 280 190 0.6 630 550 | 520 | 490 | 470 | 450 | 430 196
0.5 330 290 280 | 260 | 250 | 240 | 230 T 0.5 530 460 | 430 | 410 | 390 370 360 1
0.4 260 230 | 220 | 210 | 200 190 180 T 0.4 420 360 | 350 330 310 300 290 1
0.3 200 170 170 160 150 150 140 T 0.3 320 270 | 260 250 230 220 210 1
0.2 130 120 | 110 | 110 | 100 100 90 T 0.2 210 180 170 160 160 150 140 1
0.1 70 60 60 50 50 50 50 190 0.1 110 90 90 80 80 70 70 196
1.0 1650 1410 [ 1350 | 1290 119 1.0 2630 2230 2160 2080 |2010 148
0.9 1480 1270 {1210 [ 1160 |1110 138 0.9 2360 2010 | 1950 1880 | 1810 | 1740 | 1690 172
0.8 1320 1130 | 1080 | 1030 | 990 | 950 910 163 0.8 2100 1780 | 1730 | 1670 1610 | 1550 | 1500 205
0.7 1150 990 | 940 | 900 | 870 | 830 | 800 201 0.7 1840 1560 | 1520 | 1460 | 1410 |1360 | 1310 253
0.6 990 850 | 810 770 740 710 | 680 260 0.6 1580 1340 | 1300 | 1250 [ 1200 |1160 | 1120 330
0.5 820 710 | 670 | 650 | 620 | 590 | 570 T 0.5 1310 1110 | 1080 | 1040 1000 | 970 | 940 1
0.4 660 570 | 540 | 520 | 490 | 470 | 460 T 0.4 1050 890 | 870 | 830 | 800 | 780 | 750 1
0.3 490 420 | 400 | 390 | 370 | 360 | 340 T 0.3 790 670 | 650 | 630 | 600 | 580 | 560 T
0.2 330 280 | 270 | 260 | 250 240 230 T 0.2 530 450 | 430 | 420 | 400 390 370 T
0.1 160 140 130 130 120 120 110 260 0.1 260 220 | 220 210 200 190 190 330

836




CcCTXO-O0O SR LS air WzHE
T ¥ 1 FE R i B
HF OO0 M ASZ A, INIRIBEEERKEMRE (IREHE) 16 2 9 46 B T 45
FERT B S W IR o
]*E?E%%%ﬁfg*u J\E, i‘l’gll\ﬁ."&?ﬂ;ﬁo =11—2m1(4A12+BZ)+11—2m2(4A22+BZ)
4 T1E90° 40 CEEi FELLE. 35 R
2. 47190 e FERT B FE TR SR B HE AT B A b, 1B {E AR ER SRR RE | : R4 (kg-m?)
© RATE S E A R SE O AR m: R (kg)
&
P‘\
I\
mi
m2
90 hEEE1THR
model CTX32 model CTX40
SERENETEARX  t= ! SERENETEARX  t= !
0.0168 0.0194
12 ‘ 12
1.0 @ 1.0
g
= 08 = 08
= 0.6 = 0.6
# #
B 04 # 04
0.2 0.2
0.0 0.0
0.000 0.005 0.010 0.020 0.000 0.005 0.010 0.015 0.020 0.025
0.000672 0.000776
B LE (kg m?) B (kg-m?)
model CTX50 model CTX63
RERENETEARX  t= ! RERENEITEARX  t= I
0.0440 0.0908
12
1.0 -
e
= - 08
£ £ 06
# #
£ # 04
0.2
0.0
0.02 0.03 0.04 0.05 0.00 X 0.04 0.06 ! 0.10

0.00176

BRHEHALE (kg-m?)

0.00363
B4R (kg-m?)

XF CAD XHTHRERHER, HHBELTFMRT

www.pascaleng.co.jp 837




iRk SR AT T

=k

838

CTX[I-O SoEXNEERE InER air Wzhil
SIMER~THE
Aok
mxEE
47 PARRET EENSERO V] oAAHS

N

©

9/

o
. P

Q

[V
o | o«

©

oAA H8

E

BUAMSEZO Y

Y2 (HEARHE)

el

HeE T A L (A Et 75 1)

kEBEEMHEVEERTHMHHVE.

BEMHIE #E1/10
(11 -
[
@]
<
Y ]
oH
4-9X =
2 - <
> Q
s/ =
4-gW 2-OFF
b
+
x
2-M3 ZE1E sk
oG rgz
h RN
MRS EED
&
*EMSE#EO

f
\g)

HEFe T3 1A R (GRS $1 77 1)

Expy

AR

W L ZERMEMHMRRIEE.

GRRAFEE R

BREK

PR HIM3 45 3K .




CTXO-O SHEERRESE  ED air WA
mm
B = CTX32-0J CTX40-1 CTX50-1 CTX63-[1
A 129.8 139.3 160.7 187.2
B 50 56 66 78
C 60 66 80 91
D 35 38 47 52
E 25 28 33 39
F 39 45 53 65
0G 46 54 64 77
oH 14 16 20 25
J 78.8 83.3 100.2 110.7
K 51 56 60.5 76.5
L 27 27 32 32
M 22.5 24 28 315
(BEE) 19 22 27 32
P 103 10.3 13.2 15.2
R1 11 11 125 12.5
R2 20 26 30 40
R3 28 31 36 41
T M8X 1.25 %16 M8x1.25 %16 M10X 1.5 %20 M12X1.75 %25
v 14 14 17 16
oW 5.5 5.5 6.8 6.8
oX 9.5 9.5 11 11
Y1 G1/8 G1/8 G1/4 G1/4
Y2 3.8 3.8 4.8 4.8
Y3 14 14 19 19
z R5 R5 R6 R6
Z1 15° 15° 14° 13°
OAA (S5187Z) 415%° 4150 577 5757
AC 10.5 10.5 12.5 12.5
R (TATH) 24(h8) X 10 24(h8) X 10 25(h8) X 12 05(h8)X 12
O (FKM-90) P6 P6 P6 P6
HRE CTH32-XS CTH40-XS CTH50-XS CTH63-XS
HEHR VCLO1-I VCLO1-I VCLO2-I VCLO2-I
R
HETHTH VCLO1-0 VCLO01-0 VCL02-0 VCL02-0

X UREEG RS EX/NTAE .
BMHIESRET .

#HLE >844T1

TREEAE I —876T1

X F CAD XU THEEHNFEHR, ERIHETFMT

www.pascaleng.co.jp

bR |

3

a)
=

839



iRk SR AT T

>

=k

CTX

840

CTXOI-OJ SHEEAEXER RER air WahA
REAMIE
R3
‘ 2-Max. o4
Q O
fx 1 tx
& v
©
‘ OF ‘ 4-BB
Max. BA
5
(’Q Rz6.3
X-X
mm
# 5 CTX32- CTX40-[] CTX50-[] CTX63-[1
F 39 45 53 65
R2 20 26 30 40
R3 28 31 36 41
oBA 46.5 54.5 64.5 77.5
BB M5 M5 Mé Mé




CTXO-UE SHEERALERE WK air WEHHE
E"
)
e
g A £
P
%
25
(.
— 2
I e
E)
=3
CTX-E
o SMERTHE
[ I I ]
]; 1 ]; {1
o}
ofC| | \ED i
g TR &%
mm
# = CTX32-CJIE CTX40-LJE CTX50-LJE CTX63-L1E
SEARE () 15.5 cm3 26.5 cm3 471 cm3 86.6 cm3
A 129.8 139.3 160.7 187.2
EB 26.5 28 31 345
oEC 8 8 10 10
ED M5X%0.8 &8 M5X%0.8 i®8 M6 X1 iR11 M6X1iHR11
EE (1A EE) 11 3, 13 % 14 35, 19 9,
"8 0.47 kg 0.63 kg 1.04 kg 1.70 kg

AEFRREEFEL (FERETE).

FE SN R RSTE S R4 (—834T1). SMNERS (—8381).

X F CAD XU THEEHNFEHR, ERIHETFMT

www.pascaleng.co.jp

841




iRk SR AT T

CTX

842

CTXO-00 [ kK 2R air WzHE
ERBREAMIE
TUFH S EE . EANTRIHIE.
‘~>Z<Gio.05 %oF H8
an
fx | fx
AL x
o8B
4
S
4
@ o
$EE1/10 oA
X-X
WOREAEMHE, EAHE (. of . G) REAMIL.
(ELLTHRER V) B P E Sk RE KT, )
mm
HeE R e % 2 CTX32 CTX40 CTX50 CTX63
oA 14 5% 16 20 647 25 o0ar
oB 12.6 14 17.8 224
C 19 22 27 32
D 14 20 22 26
E 105 10.5 12.5 12.5
oF (%ﬁ *E?:;é) 4 +3.01S 4 +8.018 5 +8.018 5 +8.018
G 7.1 8.1 10.1 126




CTH[I-XS HEE 18 W 4
%
2
=
# ® E
N
32
CTH 40
CTH — XS H#EE
50
63
m Mg
% N #E]
)
e r Iy R
KRB (FHE) X& j/ X
TT anE
oB
ﬁf/‘\tﬁ Y $EE1/10
oA
‘ ‘ X-X
mm
HRE CTH32-XS CTH40-XS CTH50-XS CTH63-XS
BEAEE R EE CTX32 CTX40 CTX50 CTX63
oA 14 16 20 25
oB 17 19 24 29
C 14 18 22 26

844




CTH(-XS HEE 1 44
%
2
E
EEBEREFAMIE
({E AR ER)
A BE. EHNTR~HE.
CTH
*%G£0.05
oF H8
+ |
tx | tx
ENLHE %
QB+OJ
4>0_7 0
% o
o
|
cos %
g ()]
+l
a
oA H7
X-X
XINMERAEMHEET, EAHEE (E. ofF . Q) BLEMI.
(BRI R EMNFEEERE A, )
mm
HEE CTH32-XS CTH40-XS CTH50-XS CTH63-XS
B R EE CTX32 CTX40 CTX50 CTX63
@A 1 7 +8.018 19 +8.02'\ 24 +g.02] 29 +8A02'I
oB 13 14.5 18.5 23
C 19 22 27 32
D 14 18 22 26
E 10.5 10.5 12.5 12.5
@F (%ﬁ *E?é) 4 +g.018 4 +g.0]8 5 +g.018 5 +g.0'\8
G 7.1 8.1 10.1 12.6

XF CAD XU THEEHER, FRMEIT-FMIT www.pascaleng.co.jp

845






